

## On influence of the Taylor series remainder on unanticipated rates of return on fixed income bond portfolios

by

Joanna Olbryś

Institute of Mathematics, University in Białystok,  
Akademicka 2, PL-15-267 Białystok, Poland  
e-mail: olbrys@math.uwb.edu.pl

**Abstract:** Changes in spot rates, unknown a priori to investors, induce unanticipated rates of return on all financial market instruments. In this paper we introduce and investigate a concept of the rest of a bond. The concept is related to the Taylor series remainder and gives a better approximation to an unanticipated rate of return of fixed income bonds and bond portfolios. It is shown that the rest of the portfolio composed of fixed income bonds is a convex combination of the rests of these bonds. A stronger version of the theorem on rates of return on fixed income bond portfolios is given.

**Keywords:** fixed income bonds, bond portfolios, rate of return, Taylor series, duration, convexity

### 1. Introduction

Changes in spot rates, unknown a priori to investors, induce unanticipated rates of return on all financial market instruments. For many years the duration and convexity of bonds have been used to investigate these changes (Brooks & Attinger, 1992; Dunetz & Mahoney, 1988; Fabozzi & Fabozzi, 1989; Mehran & Homaifar, 1993). Fabozzi & Fabozzi (1989) observed that the first three terms of the Taylor expansion series of bond investment value function can be used to approximate the changes in the bonds values:

$$\partial P = \frac{\partial P}{\partial K}(\partial K) + \frac{\partial^2 P}{\partial K^2} \cdot \frac{(\partial K)^2}{2!} + \frac{\partial^3 P}{\partial K^3} \cdot \frac{(\partial K)^3}{3!} + R_n \quad (1)$$

where  $K$  denotes the *YTM* (yield to maturity) value and  $R_n$  represents meaningless components.

By dividing both sides of above equation by  $P$  we get the duration (the first term), the convexity (the second term) and the volatility (the third term) of

bond. Our aim in this paper is to introduce and investigate a notion of the *rest of bond*, giving a better approximation to an unanticipated rate of return for a percentage change in the rate.

Let bond  $A$  pay a coupon of  $C_t$  dollars  $t$  years from now, where  $t \in T = \{t_0, t_1, \dots, t_n\}$ , with  $t_0$  ( $t_n$ ) being the maturity of a shortest (longest) bond. For a single bond some, or even most, of  $C_t$  are equal to zero. Treasury bills with maturity of less than one year are treated as zero-coupon bonds. Thus, bond  $A$  can be identified with a sequence of nonnegative coupons  $C_{t_0}, C_{t_1}, \dots, C_{t_n}$  (for simplicity the last payment is treated as a coupon), with each coupon  $C_t$  having its own investment value  $C_t \cdot (1 + y_t)^{-t}$ , where  $y_t$  is the spot rate for the period of the nearest  $t$  years expressed at the annualized basis.

By the investment value of bond  $A$  one understands the sum of present values of all coupons generated by  $A$ , that is the amount:

$$P_A = P_A(y_{t_0}, y_{t_1}, \dots, y_{t_n}) = P_A(\bar{y}) = \sum_{t=t_0}^{t_n} C_t \cdot (1 + y_t)^{-t} \quad (2)$$

where  $\bar{y} = (y_{t_0}, y_{t_1}, \dots, y_{t_n})$  is called the *term structure* of interest rates. Value  $P_A$  can be thought of as a “fair” price of bond  $A$ , meaning that if a present price is below (above)  $P_A$ , then the bond is underpriced (overpriced) and then it pays to buy (sell) it.

With each coupon  $C_t$  of bond  $A$  its weight is associated:

$$x_t^A = \frac{C_t \cdot (1 + y_t)^{-t}}{P_A} \quad \text{for } t \in \{t_0, t_1, \dots, t_n\} \quad (3)$$

The sum of all weights of each bond is one. A question arises what would happen to  $P_A$  when the spot rates  $y_t$  are changed by a central bank’s decision that is a priori unknown to the investors, i.e.  $y_t \rightarrow y_t + h_t$ , (or  $\bar{y} \rightarrow \bar{y} + \bar{h}$  for short). We are interested here in the evaluation of an unanticipated rate of return  $\frac{dP_A}{P_A(\bar{y})} = \frac{P_A(\bar{y} + \bar{h}) - P_A(\bar{y})}{P_A(\bar{y})}$  due to unknown changes in the spot rates.

## 2. Rests of fixed income bonds

Function  $P_A$  given by (2) may be expanded in the Taylor series. Hence, we obtain:

$$dP_A = \sum_{t=t_0}^{t_n} \left[ \frac{\partial P_A(\bar{y})}{\partial y_t} \cdot h_t + \frac{1}{2} \cdot \frac{\partial^2 P_A(\bar{y})}{\partial y_t^2} \cdot h_t^2 + \frac{1}{6} \cdot \frac{\partial^3 P_A(\bar{y} + \theta)}{\partial y_t^3} \cdot h_t^3 \right] \quad (4)$$

for some  $\theta = (\theta_{t_0}, \theta_{t_1}, \dots, \theta_{t_n})$ ,  $0 \leq \theta_t \leq h_t$  if  $h_t > 0$  and  $h_t \leq \theta_t \leq 0$  if  $h_t < 0$ ,  $t \in \{t_0, \dots, t_n\}$ . Thus,

$$dP_A = - \sum_{t=t_0}^{t_n} t C_t (1 + y_t)^{-t} \cdot \frac{h_t}{1 + y_t} +$$

$$+ \frac{1}{2} \sum_{t=t_0}^{t_n} t(t+1)C_t(1+y_t)^{-t} \cdot \frac{h_t^2}{(1+y_t)^2} - \epsilon \tag{5}$$

where

$$\epsilon = \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2)C_t(1+y_t+\theta_t)^{-t} \cdot \frac{h_t^3}{(1+y_t+\theta_t)^3},$$

$$\epsilon(\theta_{t_0}, \theta_{t_1}, \dots, \theta_{t_n}) = \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) \frac{C_t \cdot h_t^3}{(1+y_t+\theta_t)^{t+3}}.$$

By dividing equation (5) by  $P_A$  and using (3), we obtain:

$$\begin{aligned} \frac{dP_A}{P_A} &= - \sum_{t=t_0}^{t_n} t x_t^A \cdot \frac{h_t}{1+y_t} + \frac{1}{2} \sum_{t=t_0}^{t_n} t(t+1)x_t^A \cdot \frac{h_t^2}{(1+y_t)^2} \\ &\quad - \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2)x_t^A \cdot \frac{h_t^3(1+y_t)^t}{(1+y_t+\theta_t)^{t+3}} \end{aligned} \tag{6}$$

where

$$x_t^A = \frac{C_t}{P_A(1+y)^t}.$$

Formula (6) is further analyzed for four cases.

**Case I.**

This is the most general case. Assume that shifts  $h_t$  satisfy the relationship:

$$\frac{h_t}{1+y_t} = g_t \cdot \frac{h_{t_0}}{1+y_{t_0}}, \quad t \in \{t_0, t_1, \dots, t_n\}. \tag{7}$$

The situation where an investor knows  $g_t$  rarely happens in practice and, therefore, formula (7) has a theoretical rather than a practical value. If, however, an investor is able to forecast  $g_t$  with a “high” degree of accuracy, then he/she is able to find an approximate value of  $\frac{dP_A}{P_A}$ . Note that

$$h_t = g_t \cdot \frac{1+y_t}{1+y_{t_0}} \cdot h_{t_0}. \tag{8}$$

Replacing in (6)  $h_t$  with (8), we obtain:

$$\begin{aligned} \frac{dP_A}{P_A} &= - \sum_{t=t_0}^{t_n} t x_t^A \cdot g_t \frac{h_{t_0}}{1+y_{t_0}} + \frac{1}{2} \sum_{t=t_0}^{t_n} t(t+1)x_t^A g_t^2 \cdot \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 \\ &\quad - \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2)x_t^A \cdot \frac{g_t^3 \cdot (1+y_t)^{t+3} \cdot h_{t_0}^3}{(1+y_{t_0})^{t+3}} \end{aligned}$$

$$\begin{aligned}
&= -\sum_{t=t_0}^{t_n} t x_t^A \cdot g_t \frac{h_{t_0}}{1+y_{t_0}} + \frac{1}{2} \sum_{t=t_0}^{t_n} t(t+1) x_t^A g_t^2 \cdot \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 \\
&\quad - \frac{h_{t_0}^3}{6(1+y_{t_0})^3} \sum_{t=t_0}^{t_n} t(t+1)(t+2) x_t^A \cdot \frac{g_t^3 \cdot (1+y_t)^{t+3}}{(1+y_t+\theta_t)^{t+3}}.
\end{aligned}$$

Now, we can rewrite (6) as follows:

$$\frac{dP_A}{P_A} = -D_I(A) \frac{h_{t_0}}{1+y_{t_0}} + C_I(A) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 - R_I(A) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^3 \quad (9)$$

where

$$D_I(A) = \sum_{t=t_0}^{t_n} t x_t^A g_t$$

is the duration of bond  $A$ ,

$$C_I(A) = \frac{1}{2} \sum_{t=t_0}^{t_n} t(t+1) x_t^A g_t^2$$

is the convexity of  $A$ , and

$$R_I(A) := \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) x_t^A \frac{g_t^3 \cdot (1+y_t)^{t+3}}{(1+y_t+\theta_t)^{t+3}} \quad (10)$$

is the *rest* of  $A$ . The rest of bond  $A$  gives a better approximation to the rate of return on bond  $A$  than the *velocity* (see Mehran & Homaifar, 1993).

## Case II.

In this case, shifts  $h_t$  satisfy equation (7) with  $g_t = L^{t-t_0}$ , where  $L$  is a given (known) constant,  $0 < L < 1$ . From

$$\frac{h_t}{1+y_t} = L^{t-t_0} \cdot \frac{h_{t_0}}{1+y_{t_0}}, \quad t \in \{t_0, t_1, \dots, t_n\}, \quad (11)$$

we obtain the following equation:

$$\frac{dP_A}{P_A} = -D_{II}(A) \frac{h_{t_0}}{1+y_{t_0}} + C_{II}(A) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 - R_{II}(A) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^3 \quad (12)$$

where  $D_{II}(A)$  is the duration of  $A$ ,  $C_{II}(A)$  is the convexity of  $A$ , and

$$R_{II}(A) := \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) x_t^A \frac{(L^{t-t_0})^3 (1+y_t)^{t+3}}{(1+y_t+\theta_t)^{t+3}} \quad (13)$$

**Case III.** (Proportional shifts in spot rates).

In this case, shifts  $h_t$  satisfy equation (11) with  $L = 1$  and, from

$$\frac{h_t}{1+y_t} = \frac{h_{t_0}}{1+y_{t_0}}, \quad t \in \{t_0, t_1, \dots, t_n\}, \quad (14)$$

we obtain that:

$$\frac{dP_A}{P_A} = -D_{III}(A) \frac{h_{t_0}}{1+y_{t_0}} + C_{III}(A) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 - R_{III}(A) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^3 \quad (15)$$

where  $D_{III}(A)$  is the duration of bond  $A$ ,  $C_{III}(A)$  is the convexity of  $A$ , and

$$R_{III}(A) := \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2)x_t^A \frac{(1+y_t)^{t+3}}{(1+y_t+\theta_t)^{t+3}} \quad (16)$$

is its rest.

**Case IV.**

This is the simplest case when all the spot rates are identical ( $y_t \equiv y$ ) and  $h_t \equiv h$ . We have:

$$\frac{dP_A}{P_A} = -D_{IV}(A) \frac{h}{1+y} + C_{IV}(A) \left( \frac{h}{1+y} \right)^2 - R_{IV}(A)(h)^3 \quad (17)$$

where  $D_{IV}(A)$  is the duration of  $A$ ,  $C_{IV}(A)$  is the convexity of  $A$ , and

$$R_{IV}(A) := \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2)x_t^A \frac{(1+y)^t}{(1+y+\theta_t)^{t+3}} \quad (18)$$

is the rest.

### 3. Rests of bond portfolios

While considering bond portfolios we assume that shifts  $h_t$  satisfy equation (7). Therefore, we focus on Case I. However, since Case I (7) is the most general one, the statements presented below are valid for Cases II, III, IV, with appropriately modified coefficients  $g_t$ .

A bond portfolio  $P = (O_1, O_2, \dots, O_r)$  is a collection of single bonds  $O_k$ . Its investment value  $P^*$  is defined as the sum of the investment values of all bonds  $O_k$  ( $k = 1, 2, \dots, r$ ) present in  $P$ , that is,

$$P^* = \sum_{k=1}^r P_k, \quad P_k = a_k P_{O_k}(\bar{y}), \quad (19)$$

where  $a_k$  is the number of bonds  $O_k$  present in  $P$ .

The concept of duration (convexity) for bond portfolios was defined similarly

portfolio  $P = (O_1, \dots, O_r)$  is a convex combination of durations (convexities) of bonds  $O_k$  ( $k = 1, 2, \dots, r$ ), that is

$$D_I(P) = \sum_{k=1}^r x_k D_I(O_k), \quad x_k = \frac{P_k}{P^*}, \quad (20)$$

$$C_I(P) = \sum_{k=1}^r x_k C_I(O_k), \quad x_k = \frac{P_k}{P^*}, \quad (21)$$

where  $P_k$  is the investment value of bond  $O_k$  and  $P^* = \sum_{k=1}^r P_k$ .

Proceeding in the same way, we introduce the concept of the rest of a bond portfolio. The rest of portfolio  $P$  is given by:

$$R_I(P) := \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) x_t^P \frac{g_t^3 \cdot (1+y_t)^{t+3}}{(1+y_t + \theta_t)^{t+3}}$$

**THEOREM 3.1** *If  $P = (O_1, O_2, \dots, O_r)$  is a bond portfolio, then its rest is a convex combination of the rests of bonds  $O_m$ .  $m = 1, 2, \dots, r$ , that is*

$$R_I(P) = \sum_{k=1}^r x_k R_I(O_k), \quad x_k = \frac{P_k}{P^*} \quad (22)$$

where  $P_k$  is the investment value of bond  $O_k$ , while  $P^* = \sum_{k=1}^r P_k$ .

**Proof.** Let  $C_t^k$  denote the coupon of bond  $O_k$  payable at time  $t$ . Using (10), we obtain:

$$\begin{aligned} x_k \cdot R_I(O_k) &= \frac{P_k}{P^*} \cdot R_I(O_k) \\ &= \frac{P_k}{6P^*} \sum_{t=t_0}^{t_n} t(t+1)(t+2) x_t^k \frac{g_t^3 (1+y_t)^{t+3}}{(1+y_t + \theta_t^k)^{t+3}} \\ &= \frac{P_k}{6P^*} \sum_{t=t_0}^{t_n} t(t+1)(t+2) \frac{g_t^3 (1+y_t)^{t+3}}{(1+y_t + \theta_t^k)^{t+3}} \frac{C_t^k}{P_k (1+y_t)^t} \\ &= \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) \frac{g_t^3 (1+y_t)^3}{(1+y_t + \theta_t^k)^{t+3}} \cdot \frac{C_t^k}{P^* (1+y_t)^t} \end{aligned}$$

for  $R_I(P)$ , because  $x_t^P = \sum_{k=1}^r \frac{C_t^k}{P^*(1+y_t)^r}$ .

$$\begin{aligned} & \sum_{k=1}^r x_k \cdot R_I(O_k) \\ &= \sum_{k=1}^r \left[ \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) \frac{g_t^3(1+y_t)^{t+3}}{(1+y_t+\theta_t^1)^{t+3}} \cdot \frac{C_t^k}{P^*(1+y_t)^t} \right] \quad (23) \\ &= \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) \cdot g_t^3(1+y_t)^{t+3} \cdot \Psi_t(\theta_t) \end{aligned}$$

where

$$\begin{aligned} \Psi_t(\theta_t) &= \sum_{k=1}^r \frac{1}{(1+y_t+\theta_t)^{t+3}} \cdot \frac{C_t^k}{P^*(1+y_t)^t} \\ &= \frac{1}{(1+y_t+\theta_t)^{t+3}} \left[ \frac{C_t^1}{P^*(1+y_t)^t} + \dots + \frac{C_t^r}{P^*(1+y_t)^t} \right] \end{aligned}$$

Note that for any fixed  $t \in \{t_0, \dots, t_n\}$ ,  $\Psi_t(\theta_t)$  is a continuous and differentiable function, and

$$\Psi_t'(\theta_t) = \frac{-(t+3)}{(1+y_t+\theta_t)^{t+4}} \cdot C$$

where  $C = \frac{C_t^1}{P^*(1+y_t)^t} + \dots + \frac{C_t^r}{P^*(1+y_t)^t}$  is a constant.

One may notice that  $\Psi_t$  is a decreasing function for  $\theta_t \in (0, h_t)$  if  $h_t > 0$  or for  $\theta_t \in (h_t, 0)$  if  $h_t < 0$ . By the Darboux property there exists  $\bar{\theta}_t$  such that:

$$\Psi_t(0) > \Psi_t(\bar{\theta}_t) > \Psi_t(h_t) \quad \text{for } h_t > 0$$

or

$$\Psi_t(h_t) > \Psi_t(\bar{\theta}_t) > \Psi_t(0) \quad \text{for } h_t < 0$$

and

$$\Psi_t(\bar{\theta}_t) = A$$

where

$$A = \frac{1}{(1+y_t+\bar{\theta}_t)^{t+3}} \cdot \frac{C_t^1}{P^*(1+y_t)^t} + \dots + \frac{1}{(1+y_t+\bar{\theta}_t)^{t+3}} \cdot \frac{C_t^r}{P^*(1+y_t)^t}.$$

Therefore, for any  $t \in \{t_0, \dots, t_n\}$

$$\begin{aligned} \Psi_t(\bar{\theta}_t) &= \frac{1}{(1+y_t+\bar{\theta}_t)^{t+3}} \left[ \frac{C_t^1}{P^*(1+y_t)^t} + \dots + \frac{C_t^r}{P^*(1+y_t)^t} \right] \\ &= \frac{1}{(1+y_t+\bar{\theta}_t)^{t+3}} \cdot x_t^P \quad (24) \end{aligned}$$



Substituting (24) into (23) we get:

$$\sum_{k=1}^r x_k \cdot R_I(O_k) = \frac{1}{6} \sum_{t=t_0}^{t_n} t(t+1)(t+2) \cdot \frac{g_t^3(1+y_t)^{t+3}}{(1+y_t+\theta_t)^{t+3}} \cdot x_t^P = R_I(P)$$

which completes the proof. ■

Theorem 3.1 can be used to extend the theorem on unanticipated rates of return on bond portfolios (Zaremba, 1995).

**THEOREM 3.2** *If  $P = (O_1, O_2, \dots, O_r)$  is a bond portfolio, then the unanticipated rate of return on  $P$  due to shifts  $h_t$  in spot rates  $y_t$  that satisfy the relationship (7) is given by the formula:*

$$\frac{dP_P}{P_P} = -D_I(P) \cdot \frac{h_{t_0}}{1+y_{t_0}} + C_I(P) \cdot \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 - R_I(P) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^3 \quad (25)$$

where  $P_P$  stands for the investment value of the bond portfolio  $P$ , while  $D_I(P)$ ,  $C_I(P)$ ,  $R_I(P)$  denote the duration, convexity and rest of  $P$ , respectively.

**Proof.** From  $P_P = \sum_{k=1}^r P_k$ , where  $P_k$  is the investment value of  $O_k$ , we obtain

$dP_P = \sum_{k=1}^r dP_k$ . Further, because equation (9) holds for each bond  $O_k$ , the unanticipated rate of return on  $P$  satisfies the following:

$$\begin{aligned} \frac{dP_P}{P_P} &= \sum_{k=1}^r \frac{dP_k}{P_k} \cdot \frac{P_k}{P_P} = \sum_{k=1}^r \frac{P_k}{P_P} \left( \frac{dP_k}{P_k} \right) \\ &= - \sum_{k=1}^r \frac{P_k}{P_P} \cdot D_I(O_k) \cdot \frac{h_{t_0}}{1+y_{t_0}} + \sum_{k=1}^r \frac{P_k}{P_P} \cdot C_I(O_k) \cdot \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 \\ &\quad - \sum_{k=1}^r \frac{P_k}{P_P} \cdot R_I(O_k) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^3 \\ &= -D_I(P) \cdot \frac{h_{t_0}}{1+y_{t_0}} + C_I(P) \cdot \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^2 - R_I(P) \left( \frac{h_{t_0}}{1+y_{t_0}} \right)^3 \end{aligned}$$

where  $D_I(P)$  is the duration of  $P$  given by (20), and  $C_I(P)$  is the convexity of  $P$  given by (21). ■

## 4. Conclusions

In this paper, we used the Taylor series remainder to introduce and analyze the notion of the rest of fixed income bonds and bond portfolios. First, we showed that the rest of a bond portfolio, being a collection of single bonds, is a convex combination of the rests of these bonds. Further, a stronger version of



## References

- ATTINGER, B. and BROOKS, R. (1992) Using duration and convexity in the analysis of callable convertible bonds. *Financial Analysts Journal*, **48**, 4, 74-77.
- DUNETZ, M.L. and MAHONEY, J.M. (1988) Using duration and convexity in the analysis of callable bonds. *Financial Analysts Journal*, **44**, 3, 53-72.
- ELTON, E. and GRUBER, M. (1995) *Modern Portfolio Theory and Investment Analysis*, 5th ed. John Wiley & Sons, New York.
- FABOZZI, F.J. and FABOZZI, T.D. (1989) *Bond Markets, Analysis and Strategies*. Prentice Hall, Englewood Cliffs.
- FABOZZI, F.J. and FABOZZI, T.D. (1995) *The Handbook of Fixed Income Securities*. IRWIN, New York.
- FOULDS, L.R. (1981) *Optimization Techniques*. Springer-Verlag, New York.
- KULIKOWSKI, R., BURY, H. and JAKUBOWSKI, A. (1996) Factor analysis and modeling a term structure of interest rates and inflation with a long term horizon. Systems Research Institute, Polish Acad. Sci., Warsaw.
- MEHRAN, J. and HOMAIFAR, G. (1993) Analytics of duration and convexity for bonds with embedded options: the case of convertibles. *Journal of Business Finance & Accounting*, **20**, 1, 107-113.
- OLBRYŚ, J. (1997) Computing an unanticipated rate of return on bonds and bond portfolios. In R.Kulikowski, Z.Nahorski and J.W.Owsiński, eds., *International Conference on Transition to Advanced Market Institutions and Economies: Systems and Operations Research Challenges*, Warsaw, Poland, 1997, 306-310.
- ZAREMBA, L.S. (1995) Solution of immunization problem in case of proportional spot rate shifts. Working Paper WP-3-1995. Systems Research Institute, Polish Acad. Sci., Warsaw.

